Herfera Tliat - 1, 2012
SUMMATIVE ASSESSMENT - I, 2012
qmTtSIes fa@™ /SOCIAL SCIENCE $S2-081

el - X / Class - X

ferita wweg : 3 gue freman ik : 90
Time allowed : 3 hours Maximum Marks : 90
| e .

(1)
(i)

()

(iv)

(v)

TWIE A H 0 31 TH | T T Afare B

T FHIH 1Y 10 TF Tgaheurd ¥ ¥ 1 T&F T 1 ek T

S T 119 22 7 T W 3 37 1 E | T @ e e 1 TR 80 St @ i T
Sl

T FHIH 23 | 30 T WoIH YT 5 ek H T T § TOF YT A W 120 vedt 9 3w T
Ry

WY SHIh 31 FaA el ¥ wETES g 4 3% w1 799 €1 HAMEA W SW T F AR @
ST ST YRAHT & T T R Y |

General Instructions :

@
(1)

(i)

(iv)

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question.
carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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1A.

1B.

1C

2B.

FOfuga Sufesll & &R0 | smde & qa Fefadl & fae S99 fam i s e
s &>

@  =F (b)
(c) A& d) T
Which disease provide a deadly killer for America’s original inhabitants , due to
the European colonizers ?
(a) Small pox (b) Plague
(c) T.B (d) Malaria
3TeEOR

‘Togfqm 51" o anfaser forgA fomam an?

(@) S EOEE b) o s

( S (d)  HE A

Who devised the Spinning Jenny ? _

(a) James Hargreaves (b) Richard Arkwright

(0) James Watt (d) Mathew Boulton
AUAYOR

frfafes § @ forg TR 91 grRgd’ steen @il w TR S TR ?

(@)  Herwel (b) Tl

() =g (d) F=W

Which one of the following cities has been described as “Mayapuri” or the ‘City
of dreams’.

(@) Calcutta (b) Delhi

() Bombay (d)  Madras

T Ueifaeh ST S19al T el 1 T ST 91 GAr ST W gl ©

(@)  ia men (b) Wi
(c) S & d) e
A historical account or folk tale in verse usually sung or recited is called
(a) Ballad (b) Poetry
(© Biography (d)  Story
SEVOR
‘e TUs WNifed’ e SYTE W vEs Mefafga S A e ¥ 2
(@) SRTA W (b) S A
()  VIRTNE §Toe &) F=are fEufem
Who among the following is the author of the novel “Pride and Prejudice” ?
(a) R.L. Stevenson (b)  Jane Austen
() Charlotte Bronte (d)  Rudyard Kipling

Tpfas a1 e st § o1er fav & # arE oM arelt et wee © -
(@) W Sfer (b)  geiw S
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Species found in areas isolated by natural or geographical barriers are called :

(@) Extinct species (b) Endemic species

(©) Vulnerable species (d) Endangered species

AR A ® yoferd | s e Jonelt’ FiS Rl ST S

(@) FER (b)  Fe

(© = @ =

The “slash and burn agriculture” practised in North-East India is also called :
(a) Jhumming (b) Milpa

(©) Ladang (d) Roca

Ficieh! 1 ' TgHEARATE FIA’ H @ ! T &
(a)  fEEl s YYE a0 & Al

(by ol wiftEli =1 vy wefad = & fom)

(@ gl w1 v T W % e

(d fogsl =1 vy wnfea w0 & fawy

Sri Lanka adopted a series of “Majoritarian laws” to establish

(@) Tamil supremacy (b) Sinhala supremacy

(c) Buddhist supremacy (d) Hindu supremacy

F5 TN TF TIHR QHT o Tl W HFF 91 gt €, 39 G 1 F8 I E -
(@)  wEEH ®) TR |
() St = (d) afafire stfuwr

Subjects on which both the Union and State Governments can make laws are
called as :

(@) Union List (b) State List

(©) Concurrent List (d) Residuary powers

TEY W TS I Fel 0

(@) fageem (b) TR WEM

(  Emt d) o

A male dominated society is referred to as :

(@) Patriarchal society (b) Matriarchal society
() Feminist society (d)  Communal society

frafafes & @ =9 o %= vt =l oma’ & ded § 98 §72

(a)  HT A I T SV F A G ¥ 9T T R 4 sAf a9 gt

(b) a3 Y Wia AT o7 +ff Fed T

() it =afe ot 1 39 2w & foe & 9 vy 76 R

(d) = <n = oo o w9k 6l R S 31 S 9 9 TR § A
Wit =afe 31g wE St 7

Which one of the following statements is true about ‘Per capita income’?
(@) Average income divided by the total population of a country is called
Per Capita Income
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10.

11A.

11B.

11C

12A.

12B.

(d)  Total income of a country divided by the number of people who earn is
called Per capita income.

et o # Yy gu 1000 Shfad o= & @ & o9 6 AW q TR W I IR T h

1w 1 Frefafas § 3 e wa s €2

@ RgIgw (b) T

() T sufeafy srum (d) IR

Which one of following indicates the number of children who die before the age
of one year as a proportion to 1000 live children born ?

(@) Infant mortality rate (b) Birth rate

(©) Net attendance ratio (d) Literacy rate

I, i aw o Sard frafafed 9 9 e as % dwia o €2

(a) wafHw &F (b)  GoEE &E

(0 foirs & (d) O O e e

Services such as Transport, Banking, and Insurance come under which one of the
following sector ? -

(@) Primary sector (b) Tertiary sector

(c) Secondary sector (d) L.T. sector

e |, AR ofds faftma & oiwfy, 79 99 yor #t 7REl Sya yarl
! U8AM H g7 I YA Hi AT HitaC |

Which three types of movements or “Flows” within international- economic
exchange have the economists identified ? Explain those flows.

3T¥EYOR
TR gfem w3, wdiE R ¥ fRe weeR Tt g Wl wust @ el e v
1?7 SRAT SIS |

How did the East India Company procure regular supplies of cotton and silk
textiles from Indian weavers ? Explain.

AYEYOR

18 o TR} % HEA ¥ o, Ted Hi smued § gig # 2m a2 Rl o swen
I WL HIC |

Why did the population of London expand from the middle of the 18t century ?
Explain any three reasons.

‘g & wnferi, eva feaint qu, | swftTe, oTwelt d@s ¥ U weg 1891 vt |
%" % e H, 39w T Same Sy |
‘Tremble, therefore, tyrants of the world! Tremble before the virtual writer!’
Explain this statement in the context of mid - 18t century France.

3gar/OR
st ura & 39w, 9 YR sufEyel qur Wil Sl & fa swEet

W? wWe i)

In what wave wasg the navel in enlanial India nicefitl far hath the colanizers ag
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13.

14.

15.

16.

17.

18.

19,

20.

21.

22,

23A.

-3TXE 1 For § W@ & fou -1 ey 39 A G 7 FE a1 HeA
HRT

What steps can be taken to control soil erosion? Suggest any three steps.

e fRrsll 3 fFa wER oAl aun 5= Wil 1 THEm UgTl § 7 e S|

How have human activities caused the depletion of flora and fauna ? Explain.

A gl ¥, IgSevdg IRANHR ag 5 91y Y TR e a9 RIS % W
H o T ? WE S

In recent years, why have multi - purpose projects and large dams come under
criticism and great scrutiny? Explain.

AR H FERT HY S el [ i el st gueer’ s fafti it saren ity
Explain any three methods of “Rain Water Harvesting” being practiced in India.

AT ! TR 1 32 Y TRl A I eaRac! HH| i A i |

Explain any three majoritarian measures taken by the Srilanka Government.

e faeml w1 TeEife % 9ftomml #1 Freifa 9 ar fF= 9F SR w9
SIS |

Describe any three factors that determine the outcome of politics of social
divisions.

TR (67 3T & iy qon s g7 fFF goeedl &t o) eam sTeefva foa
T A7 I i wEIeEs SEERl wY S{TwE WR W IR 3 % 6 s8R
=1 fepar ? '

What problem was raised by Smith and Carlos of U.S.A ? With what gesture did
they draw international attention towards the social problems in U.S.A ?

fowm & AT yrviem #1 g7 Fif Teaye €2
Why is the issue of sustainability important for development ?

FfeT adT SFENST &5 § ¥ HIET §% e § 91 4] 7 AR R |

Which one of two is a better sector organised or unorganised sector and why ?
Explain.

JATTF &F & Ted Hed ¥ [ HF ¥ A SR STEE €7 T i |

Which three factors are responsible for the growing importance of the Tertiary
sector ? Explain.

fofeer wear 7 ‘& @' # & g fFar? mE e W oF yvE 127 o
TSIy |

Why did the British government scrap the “Corn Laws” ? What were its effects
on Britain ? Describe.
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23B.

23C.

24A.

24B.

25A.

25B.

26.

27.

28.

29.

Ui & i faem ¥ Rty Syl & arer %1 999 sifag )

Describe the contribudon of the early entrepreneurs to the Industrial
Development of India.

W/OR
fHeTa Y& ht STETIHAT I S G AT, TIA H §C AHITH IRIAT! 1 JUA R |
wftrra @ & o st sreien R g 2

Describe the social changes in London which led to the need for the
Underground Railway. Why was the development of the underground railway
criticised ?

qRA H 01 hifd & 3faer w1 9o wiferg )
Describe the history of print revolution in India.
AT/ OR

=g feg g qur Tmw vl 3 19 f ward foe # o9 s afadA & fawa °
foman €, 8 @ T @1 9ol RIS

Describe some of the social changes in the 19t centiiry Britain which Thomas
Hardy and Charles Dickens wrote about.

RO Tpia 3 o wehR T yRfefaan O 1, f59 o sror ik il g5 2 ;e
FST |

How did the print culture create the conditions within which the French
revolution occurred ? Explain.

31eraT/OR
Il A R YRR SyfTeRa o1 Wa TR ? el wigw T it |

How did novels present modernity in their vision ? Explain with examples.

A IR g1 fRarl & feq § i o el we mexaqol deife aun Semd
GURI 1 99 HifT

Describe any five important Technological and Institutional reforms introduced
by the Indian Government in the interest of the farmers.

AT H AH TR D! YT Yge T M F oy, i #t fen § ssw 7 yqa
FTH PA Y 9?7 T HIfS)

. What were the major steps taken towards decentralisation, making the third-tier

of democracy more powerful ? Explain.

eI ford WehR TeHiTg | fafi= 9 gRo s ddt 7 T HifSw |

How does Communalism take various forms in politics ? Explain

“fafm @il W o Tt @iea fist B €)1 ww & o i faew €, 98 g % fag
T & gw § 1 3 YA F SRS eI G H HSW |
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30.

31.

development for one, may even be destructive for the other”. Explain the
statement with examples. '

TR QT ATHIOT &5 B AR % STaE @l sg % T, TehR g 31—/ $cH $81g
I HHRA 27 TR Hiferw |

What steps can be taken by the Government to create more employment
opportunities in urban as well as rural areas ? Explain.

(i)

(if)

(i)

fou g wRa W Tertfas e 7 (A) oK (B) W 3 g fafea fRd
T 2 < T RN S STYR W 3 eIl R UgEe 9 A W g fafea
(A) TH QI ERR

(B) TH WHR &

st Aefad | & frefefas = Sugsa S6dl N SN ©F Sk |8 AW
fafge:

C) TER W a9y

(D) 1T I T & SURH 4

Two features A and B are shown in the political map of India. Identify
these features :

(A)  Asoil type

(B) A type of forests

On the same political outline map of India, locate and label the following
items with appropriate symbols :

(C)y  Sardar Sarovar Dam

(D)  Thelargest producing state of rubber.

e : fatas wea S givenfug gdenfefal & foae yod waiE 31 F WH W E
(31.1) Y&k &I F T HA SRR ?

(31.2) wfeem ST & U UW #1 AW fafgu)

(31.3) TER TSR STy g T4 WaAT 8?2

(314) EE F Tod 9 IURF ToF H1 TH TR |

Note : The following questions are for the visually impaired only in lieu of Q.

No. 31.

(31.1) What is the colour of the arid soils ?

(31.2) Name the National Park of West Bengal.

(31.3) On which river is the Sardar Sarovar dam built?
(31.4) Name the largest producer state of rubber.
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